COMMON ENTRANCE TEST - 2017

DATE SUBJECT TIME
02-05-2017 MATHEMATICS 2.30 pm to 3.50 pm
MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING
60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :
1. Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.
2. This question booklet is issued to you by the invigilator after the 2" bell i.e., after 2.30 pm.

3. The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4. Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

DONTs :
1.  The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3" Bell rings at 2.40 pm, till then;
e Do not remove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3" Bell is rung at 2.40 pm, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

3. During the subsequent 70 minutes :
e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

4.  Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

il

Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 3.50 pm, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

~

Hand over the OMR Answer Sheet to the room invigilator as it is.

oo

After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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If A and B are finite setsand A =B, then
(A) n(AuB)=n(A) B) nAnB)=n(B)

(© nauB)=n(B) ®) nAnB)=4¢

Question Id : 1
The value of
cos? 45° — sin? 15°1s

2 4
© 3+1 ® 31
2.2 2.2
3+5+7+....tontermis
(A) n(n + 2) B n(n -2)
© n° D (n+1)°

QuestionId : 3

- it
If ( EJ = 1, then the least positive integral

1-1
value of m1s
A2 B) 3
©) 4 M) 1

Question |d : 4
If |x—2/<1,then

(A) xe[1,3] (B) x€e(1,3)

© xe[-1,3) D) xe(-1,3)

Question|d: 5

If “c_= "C, thennisequal to

(A) 26 B) 12
© 6 D) 20

The total number of terms in the expansion of
(x+a)"— (x—a)" after simplification is

(A) 24 (B) 47

(O 48 (D) 96

QuestionId : 7

A T B TR IO Meansd 23080 ACB 3533

(A) n(AuB)=n(A)  B) nanB)=n(B)
(@) n(ﬁUB):n(B) (D) n(AnB):d)

Question|Id: 1

cos? 45° — sin? 15° @ We3o30

2 4
© 3+1 ® 5-1
2.2 242

Question|d : 2

345 +7 + ... T n ITRTSONS ZRST WS

(A)n(n +2) B) n(n —2)
© n° M (n+1)

Question|d: 3

1N
(lli) - 1 &TOm 3 0T FIF PEros
-1

alo}
(A) 2 (B) 3
(©) 4 D) 1

Question Id : 4
|x —2| £ 1 333

(A) xe[13] (B) xe(1,3)

© x€e[-1,3) D) x€ (-1,3)
Gueston 45
iC,= "C, ©o%n 3 e
(A) 26 (B) 12

(©) 6 (D) 20

Question|d : 6

LT AT - .
(x+a)'— (x—a) = IO NO%@Q%NU J030

u%mmf 3033ZS
A) 24 (B) 47
(©) 48 (D) 96

Question|d: 7
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10.

11.

12.

Equation of line passing through the point
(1,2) and perpendicular to the line y = 3x — 1
is

A x+3y—-7=0 B) x+3y+7=0

©) x+3y=0 D) x-3y=0

QuestionId : 8

2 2

The eccentricity of the ellipse AN
36 16
is
A) 2./5 ®) 2./5
6 4
© 2./13 ®) 213
6 4

QuestionId : 9

The perpendicular distance of the point
P(6,7,8) from XY-plane is

A8 B) 7

© 6 D)5

The value of _lim Mis
->0]—cos 66

(A) 4/9 B) 9/4

© 9/3 D) 3/4

Question Id : 11

The contrapositive statement of the statement
“If x 1s prime number, then x 1sodd” is

(A) If x 1s not a prime number, then xis not
odd

(B) If xis a prime number, then x1is not odd.
(O If x isnot a prime number, then xis odd.

M) If x is not odd, then xis not a prime
number.

QuestionId : 12

8.

10.

1.

12.

(1,2) ROTOII TPWT TIOTNTRENT 3O

v = 3x — 1 3IOP 3eadn ©owWENTIT ITY Teadod
TAOCTTEIR)

(A) x+3y-7=0 B) x+3y+7=0

©O x+3y=0 D) x—-3y=0
DEPFRE AN A 1 ovEeon,o o3
36 16
W 2./5 ® 2.5
6 4
© 213 ® 213
6 4

Question|d : 9

XY 3203000 P(6,7,8) WOTONT ©0WEBRTE 23S

(A) 8 B) 7
(O (D) 3
; 1—cos 460
m 73935030
6->01—cos 60
(A)4/9 (B) 9/4
(©) /3 D) 3/4

Question Id : 11

“ X wom SRS xosd’g BSTT &N x WO W
R023,” DT QWO TEYFOD T)SHS Tevs
(A) X%WOT BT ?50&%053@%3@7’1 X WO BB
xo&?gojoegﬁ
X WO WL, OIBTON x WO IR

xo<932sojoeg0

X WOT SARSE xosjéoﬁgmﬁ X WOT WX
5033aS

X 2000 W B083,00QIIN x 20T BT,
xogjgojoegw

(B)

©

(D)

QuestionId: 12
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13.

14.

15.

16.

17.

18.

If coefficient of variation 1s 60 and standard
deviation is 24, then Arithmetic mean is
(A) 40 B) 7/20

(©) 20/7 (D) 1/40

The range of the function f(x) = _/9—x? is
) (0, 3) ) [0, 3]
(©) (0, 3] D) [0, 3)

Question Id : 14

Let f:R — R bedefined by f(x)= x*, then
(A) fis one-one and onto

(B) f may be one-one and onto

(O f1s one-one but not onto

(D) f'is neither one-one nor onto

®) (—n nj
272
D) T
[}

QuestionId : 16

Question|d: 15

The range of sec1x 1

(A) [—n n}
272

©) [0,7]

_ _ 4 _ _
If tan™'x+ tan"'y = ?T[, then cot™*x+ cot™'y

is equal to
(A) n ®) =
5
© 2=z @) 3n
5 5

If f(x)= 8x3 g(x)= x*/3,then fog(x)is
(A) 8x B) 83x
© (8x)1/2 (D) 8?3

QuestionId: 18

13.

14.

15.

16.

17.

18.

WO TIOTNY SRLFT NOTO0T 6 0 B0 RNTB
QBOT 24 3TN 93T mméosw e3e3

(A) 40 (B) 7/20
(©) 20/7 (D) 1/40

Question Id : 13

f(x) = ./9—x? em%a’gtd WOWNEIR)

) (0,3) @) [0, 3]
(©) (0,3] ) [0, 3)
f:R—>R «33 f(x) = x* Q0

39,809, VRO LN

(A) f 200020830 T02) Foewed em%aimf\dagd
(B) f 20002080 T2 Foewed em%:&mﬁm&m
(C) f 20T0-2.00 BTT Boewed YUBIHE,

(D) f 20002070 ) TOBI Toewrasyp B,

Question|d: 15

seclx méﬁp WOWNEIR)

(A) [—n n} (B) (—n nj
272 272

© [0, 7] (D) 0, 7] {;}

_ _ 4 _ _
tan'x + tan"ly = ?TE B3 cot lx+ cotTly T

3

QuestionId : 16

A nt (B) T
5
© 2_TE D) 3_7{
5 5

Question Id : 17

f(x) = 8x3, g(x)= x? =3 fog (x) = 3
(A) 8x (B) 83x

© (8x)'/ D) 8x?

Question Id : 18
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19.

20.

21.

22.

sin ' (7x) tanl(iJ

\'JT.

sin l(ij cot ' (mx)

T

?

If A-L
T

—cos !(mx) tan 1{ x}
B = : %/ |then A - B is
.o X -1 i
sin [—J —tan”~ (7mx)
m

equal to

A1 ®) 0

© 21 @) 1 I
2

Question|d: 19

If a matrix A is both symmetric and skew
symmetric, then
(A) A is diagonal matrix

(B) A is a zero matrix

(O) Aisscalar matrix (D) A is square matrix

Question Id : 20

If 21 4 4 0=5 6,thenthevalue
0 x 1 2 1 8

of xandy are

A x=3, y=3

B) x=-3, y=3
© x=3, y=-3
D x=-3, y=-3

Question Id : 21

Binary operation * on R - {-1} defined by

axh — iS

b+1
(A) * is associative and commutative

(B) * is associative but not commutative
(O) * is neither associative nor commutative

(D) * 1s commutative but not associative

Question Id : 22

19.

20.

21.

22.

AL T

T | sin l(ij cot ' (mx)

b

—cos'(nx)  tan _l(ij
B = . ™ |ews, A- Bo

sin”' (i) —tan ' ()

T
a3
@1 (B) 0
©) 2 @) 1
2

QuestionId: 19

A TR FOX0 FERON 0B DRERON [T HTRR
ST A T9,TOI0
(A) A BEF TN T

(C) A ©03 aifa%é

(B) A 3@523 SN
(D) A SN TR T

Question Id : 20

137 [y 015 6
0 x 1 2 1 8 N

N WSns

A x=3, y=3 B x=-3, y=3
© x=3 y=-3
D x=-3, y=-3

Queston d:21
R - {-1 } neaw &oeds, a%xh = bilaoeri

T, ADVTOL, * DRWS 3,08000
(A) = FBIIFRC0D I3 HORIFDECVTONII

(B) = ATHSEQLODTINT, TOWSFQONTY,
(C) = FTTZFAONTEY, TN TORIFAONTP &),
(D) = TOTBFAOD SBT3 ZTHIF AR,

Question Id : 22
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23.

24.

25.

26.

27.

3 x |3 2 .

If :‘ then x isequal to
X

(A)2 (B) 4

© 38 D +22

Question Id : 23

If A is a square matrix of order 3 x 3, then |[KA|

1s equal to
(A) K|A| (B) KZ|A]
O K3|A| (D) 3K|A]

Question Id : 24

The area of triangle with vertices (K, 0),
(4,0), (0, 2) 1s 4 square units, then value of K

1S
A)Oor8
©0

B)Oor-8
D)8

Questond:25
Ax x~ 1

Let A=By vy’
Cz z= 1

A B C
Ar=|x 'y z then
zy
A) A,=-A

X Xy
B) A=A

© A, %A @) A,=2A

Kx* ifx<2 . .
If f(x)= ] 1s continuous at
3 ifx>2
x = 2, then the value of K is
A3 B) 4
© 3/4 D) 4/3

Question Id : 27

23.

24

25.

26.

27.

3 x] 3 2
= EBSTON x> WSO

x 1 1
(A) 2 (B) 4
©38 D) +22
A O3 x 3TEroDh [ne wRgFotnoen [KA|
33,50 Welodn
(A) K|A| B) KZ|Al
© K?|a| (D) 3K|A|

Question Id : 24
(K, 0), (4, 0), (0, 2) 30N womﬁ@@lﬂ TRODTOR
&, huE 363,30 4 13030 SRINPETK & Wt

(A) 0 &30 8 (B) 0 &= _ 8
(ORY (D) 8
Ax x* 1
A=By y° 1 =R
Cz z7 1
A B C
Ai=|x 'y 7|sT0
zZy IX Xy
(A) A, T-A B) A, A
© A+ A @) A, =2A

Question Id : 26

Kx* if x<2
f(x) = ONDREVER VI WRIGIVE IS fov)

3 ifx>2
X = 2 0ondTQ B meren K & weiods
A3 B) 4
(©) 3/4 (D) 4/3

Question Id : 27
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28.

29.

30.

31.

32.

The value of C in Mean value theorem for the
function f(x) ==x?1n[2,4]1is

(a3 (B) 2
© 4 (D) 7/2

Question Id : 28

The point on the curve y?=x where the

tangent makes an angle of n /4 with X-axis is

A (11 ®) (11
274 4’2

© (4,2) ) (1, 1)

Question Id : 29

The function f(x)=x+2x-5 is strictly

increasing in the interval
(A) (-1,00) B) (—oo0,—1)

© [-1,00) D) (<o0,—1]

Question Id : 30

The rate of change of volume of a sphere with
respect to its surface area when the radius is
4 cmis

(A) 4cm3 / cm? (B) 2cm? / cm?
© 6cm?/cm? M) 8cm?/cm?

Question Id : 31

Ify= tanl(w], then Y is equal
COSx —sin x dx
to
(A) 172 (B) n/4
OO0 D) 1

Question Id : 32

28.

29.

30.

31.

32.

fx) =x% o083 [2, 4]oDQ =T
WP, FeodT T5T C T3 ISO3N
)3 (B) 2
©) 4 D) 7/2

Question Id : 28

y? = x 8,3ea503 3¢S oORT WOBINTE), NS
IHFEPX ©3TR0OR TRRT  ERIPN 4

ST,

A 11 ® (11
£ )

(© (4,2) ®) (1, 1)

Question Id : 29

f(x) = x> +2x=5 @@Fc’ﬁw ?g) @mﬁ UDSNQL@

SROD)
(A) (-1,%) B) (—o,—1)
© [_ 1.! OO) (D) {:_ OOJ_]-]

Question Id : 30

RRYE &K 4 cm SN RREIT e | DA
FOWORRTIOZ NATT PIPOT TG IS

(A) 4cm3 / cm? (B) 2cm3 / cm?

© 6cm3/em? M) 8em?/cem?

Question Id : 31

yzml(ijw 9 e

COS X —sin x dx
B) /4
(D) 1

(A)l/2
© 0

Question Id : 32
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33.

34.

35.

f(x) g(x) h(x)

Ify= |1 m n |, then dy.
dx
a b C
to
@ I (x) g'(x) h'(x)
| m n
a b c
® | 1 m n
f(x) ¢ h'(x)
a b C
© |f(x) 1 a
g(x) m b
h'(x) n ¢
® |1 m n
a b C
fi(x) g(x) h(»)
If sinx= littz,tany= liz, then
equal to
A1 ®B)0
O -1 D)2
The derivative of 305‘1(2 X’ _1]
cos Ly 1
A2 (B) -1
2. /1—-x?
© 2 D 1_42
X

is equal

Question Id : 33

dy

18

Question Id : 34

w.r.t

Question Id : 35

33.

34.

35.

f(x) g(x) h(x)

y= | 1 m n |eswd dlu”ci’
dx
a b C
A If(x) g'(x) h'(x)
| m n
a b C
® |1 m n
f(x) g'(x) h'(x)
a b C
© [f(x) 1 a
g(x) m b
h'(x) n ¢
™ | 1 m n
a b C
f'(x) g) h'(x)

Question Id : 33

sinx = ztz,tany= ztz,@wd W 3 o33
1+t 1-t dx

a1 B) 0

© -1 (D) 2

Question Id : 34

cos (27 =1) &, cosTy T ATRATR B>

A) 2 (B) ~1

2./1-x*

© 2 D) 1_,2

X

Question Id : 35
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36.

37.

38.

2

If y =log(logx) then
A)  —(1+logwx) (B)
(xlogx)’
©  (1+logx) (D)
(xlogx)*
s
J- [E:f:;z dx 1s equal to
(A) 1 B)
+
(x+4Y
O D)
+C
(x+4)

cos2x —cos20

f cosx — cos®

(A) 2(sinx+ xcos8)+C
(B) 2(sinx—xcosB)+C
(O Z(sinx+ 2xcosB) +C

(D) 2(sinx— 2xcosB) +C

Zis equal to

—(1+logx)
x* logx

(1+log x)
x* log x

Question Id : 36

X

[~
S+
(x +4)

X

[
(x +3)

+C

Question Id : 37

dx is equal to

Question Id : 38

36.

37.

38.

2
v = log (log x) swon d : T 3g030
A)  —(1+logwx) ®B) —(1+logwx)
(xlogx)’ x? logx
© (1+logx) @) (1+logx)
(xlogx)* x? log x
s
J- (x+3)e doe G 5eed
(x+4)2
A 1 (B) e
+ _+
(x+4Y (x+4)°
© O
©_icC * _cC
(x+4) (x+3)
J-CGSZx—CGSEEH dx & 3¢

cosx—cos0
(A) Z(sinx+ xcosB)+C

(B) Z(sinx —xcosB)+C
(O Z(sinx+ 2xcosB)+C

(D) 2(sinx — 2xcosB8) +C

Question Id : 38
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* J\/m dx 1s equal to
@) , 2
5(A‘+1)m+210g
vets i xS O

x4+ [T TI75 + 210
AR ey e R

R e e
w1 i 215+ C

(X+1)\m+%1og
‘x+l+m‘ +C

(B)

©

(D)

O tanx _
I — dx is equal to
0 cot'x+tan'x
A = ® =
: 4
© T @) =
6 3
41. 5
I| x+2| dx isequal to
-5
(%29 ®) 28
©27 ®) 30
2. 5 S
J._HQ esinf+ 1 1s equal to
(GVAL ®) 1
© = ®
2 2

Question Id : 39

Question Id : 40

Question Id : 41

Question Id : 42

39.

40.

41.

42.

[x?+2xes ax oo
@) | 2
5(x+1)m+210g
v+l 7 2xes] O

(X‘l'l)m_leOg
‘x+1+m‘ +C

(v 1) 2805 2p
‘x+1+m‘ +C

(Aﬂ+1)M+%bg
‘x+l+m‘ +C

(B)

©

(D)

Question Id : 39

tan ' x

J‘H 2 7 - dx T 235030
0 cot'x+tan'x
A n ® =

2 4
© =n ®
6 3

Question Id : 40

5

I| X+2| dx @ kot
-5

(A) 29 (B) 28
© 27 ) 30
" dx
.f—n,fg eSinx § 1 T 23030
(A0 ®) |
© = o =
2 2

Question Id : 42
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43.

44.

45.

46.

47.

JAT[2 1 . 1
; dx 1S equal to
o a’.sin’ x+b’-cos’ x

(A) ma (B) na
4b 2b

© ab @) =
4a 2ab

The area of the region bounded by the curve
y=x" and the line y = 16 is

(A) 32sq. units B) 256sq. units
3 3

(O 64 sq. units (D) 128sq. units
3 3

Question Id : 44

Area of the region bounded by the curve
y=cosx,x=0and x=m1is

(A) 2 sq. units (B) 4 sq. units
(O) 3 sq. units (D) 1 sq. unit
The degree of the differential equation
14 ( d_Y]' - 4V
dx dv’
a1 (B) 2
©3 D) 4

Question Id : 46

General solution of differential equation

dljty:l(y = 1) 1S
dx
(A) 1 B) log|l-y|=x+C
logl—|=x+C
l-y

©O log|l+yl=x+C

(D)
log

L =-x+C
1-y

Question Id : 47

43.

44.

45.

46.

47.

2
L a’-sin’ xibz- cos” x dx T TS0
(A) ma (B) ma
4b 2b
(© =b @) =
4a 2ab

Question Id : 43

y=x @By = 16 Feadod0T 53T F5e3T

QRCEIFTY

(A) 30 BTTIRINDL  (B) 256 BTT SIS0
3 3

(O) 64 BTTTRIND (D) 128 BTT &SN
3 3

Question Id : 44
TFTead Yy =COSX B x=0 I3
NPT 553 B0l T,T3ETTI DREEDFY)
(A) 2 BTT [RIA (B) 4 3TIT T[N

(C) 3 BTT [IRINO (D) 1 23TT T[N

(2]

X="

Question Id : 45

&Y wmzen zasceoes

dx2
DOTNEIT L33
Ayl (B) 2
©) 3 (D) 4
Question Id : 46
Dby — 1@ # 1) SRS AT R,
X
TOTOTR)
(A) 1 B) log|l-y|=x+C
log|—|=x+C
-y
O log|l+yl=x+C
(D) 1
log|—|=—-x+C
l1-y

Question Id : 47
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48.

49.

50.

51.

52.

The integrating factor of the differential
equation x -ler 2y = x%1S (x #0)
X
(A) 42 B) log|x]|
©) loer D) x

Question Id : 48
Ifa=2i+2j+k and b=i+2j+3k are

orthogonal, then value of A is

A0 B) 1
© 3 ® 5
2 2
Ifa, b, ¢ are unit vectors such that

i+b+c¢=06, then the value of
i-b+b-c¢+c¢-gisequal to
B)3

D)

b | o

Question Id : 50

If 3§ & { are unit vectors, then angle between
dand b for /33 —p to be unit vector is

A) 30° B) 45 °

©60° D) 90°

Question Id : 51

Reflexion of the point (a, B,y ) in XY plane is
(A) (a,B, 0) ®) (0,0,v)

© (-a,-B,v) D) (a,B,-v)

Question Id : 52

48.

49.

50.

51.

52.

dy

Yoot 2y = x* (x #0) STIOT RECFTEIT
X
WROTOT BTR3E )
A) 2 B) log|x]|
(©) gloex D) x

Question Id : 48

d=21+1]+k 8  b=1+2)+3k oo

fakRIatenlanial EiiSioves)
40 ®) 1
© 3 ® 5
) 2
Question Id : 49
a, b, C N O3 mw%mﬁ% 0B
i+b+¢=0 SN F.b+b-C+¢.a WS
(GVRS (B) 3
© 3 ®) 3
2 2
Question Id : 50
d WA p AOIND DF FOINFINT), 30

J33 —Db 98 303 smn 3 1Y I®IT TRe33
2330320
(A) 30 °

(©) 60 °

(B) 45 o
(D) 90 o

Question Id : 51

XY Azncos @ed (a, B,y ) Worods &,80owy)
@) (q.p:0) @) (0,0,y)

© (a>-Bry) M) (q:'pr-y)

Question Id : 52
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53.

54.

55.

56.

The plane 2x - 3y + 6z- 11 = 0 makes an

angle sin~! (a) with X-axis. The value of a is

equal to
A .3 ® /2
2 3
© 2 @) 3
7 7

Question Id : 53

The distance of the point (-2, 4, -5) from the

line X+3_ y-4_ z+ Sis
3 5 6
A) @ B) 37
10 10
© 37 D) ﬂ
«/ﬁ 10

Question Id : 54

A box has 100 pens of which 10 are defective.
The probability that out of a sample of 5 pens
drawn one by one with replacement and atmost
one 1s defective is

10 2110
© 9V 179V

_ + _ _

(10) 2(10)

® /g3
2(5)

Question Id : 55

Two events A and B will be independent if
(A) A and B are mutually exclusive

B) P(A' ~B") = (1 - P(A)) (1 - P(B))
(©) P(A) = P(B) D) P(A) + P(B) = 1

Question Id : 56

53.

54.

55.

56.

X8 @) 2x -3y + 6z - 11 = 0 F30IOT IROIT
3ee3 sin~! (o) &R o & 233030

@ /3 ®) /3
2 3
© 2 ® 3
7 7
Y3 ¥4l 78 e Geadonod (-2,
3 5 6
4, -5) QOTVNT TRTR)
(A /37 B) 37
10 10
© 37 ®) 37
10 10
womd  FUREHOMD 100 FFo, MY O_ 10
TRERFPOBTONR. S cﬁ@tﬁ@?ocﬁ WOTT

OCNOTTOZ  WTERTBN u@a’% 68307% 20,0030
TRER IO BTO=0Z @%é@%@;ﬁ SlelAMJeveiciovolhlo

10 2110

© 9\ 179
_ + _ _
(10) 2(10)

@ {793
2(5)

Question Id : 55

A 3 B 208> A203, PUSRess on
(A) A T2 B 1ie TOXT T, 3378 PO

@) P(A" AB') = (1 _P(A)) (1 _P(B))

(© P(A) =P(B) (D) P(A) +P(B) =1

Question Id : 56
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57.

58.

59.

60.

The probability distribution of X is
X [0f1)2]3

PX) | 03 | k| 2k | 2k
The value of k 1s
A) 0.14 ®) 0.3
©) 0.7 M) 1

Question Id : 57

The shaded region in the figure is the solution
set of the inequations

y
\/\
(0.5)
\
0.3)

0 (4.0)\_
Sx1+4y>20,x<6,y>3,x>0,y>0

(6.0)
A)

(B)
©
(D)

Sx+4y<20,x<6,vy<3,x>0,y>0
Sx+4y=220,x<6.y<3.x20.y>0
Sx+4y220,x>26,y<3,x>0,y>0

Question Id : 58
If an LPP admits optimal solution at two
consecutive vertices of a feasible region, then
(A) the required optimal solution is at the
midpoint of the line joining two points.
(B) the optimal solution occurs at every point
on the line joining these two points

(©) the LPP under consideration
solvable

1S not

(D) the LPP under consideration must be
reconstructed

Question Id : 59
3.5 .
I [x] dxisequal to
0.2

(A) 4
© 35

(B) 4.5
D)3

Question Id : 60

57.

58.

59.

60.

X T B0LIRe0NT T033
X 0 [1] 2|3

PX) | 03| k| 2k | 2%
Slapiall Gaghisleved
(A) 0.14 B) 0.3
(© 0.7 (D) !

Question Id : 57

sgodo@ﬁ TOTOEAT My TSNT OTN®  WRWOBNY
2OTOT mamﬁd@d.

y
\/\
(0.5)
\
0.3)

9 4,00\
(A) S5x+4y>20,x<6,y>3,x>0,y>0

(6.0)

B) Sx+4y<20,x<6,v<3,x>0,y>0
©) 5x+4y>220.x<6.y<3.x20.y=0
D) Sx+4y220,x26,y<3,x>0,y>0

Question Id : 58

LPP 0 Howess, T30 Q060 ©=03m 3)onne

RRB m%@egﬁ@s% éramwn’

(A) TeTT BB mveé TOTITRY) €3 VT womm@
ReORI ATF Teaod 30T, WOTDNTITT.

(B) RRT TPY, TOTTP & TR WOTONTIY
Teomom RIOY Tedod  w0eddTm 2
QOTORTINTOZS.

(C) 3M08R0TE LPP i H0TH900) .
(D) T LPP 0303, s30T Tesedesd.

Question Id : 59
3.5
[N
0.2

a4
() 3.5

(B) 4.5
(D) 3

Question Id : 60
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